IR (EEKR KAL) AR5
H H % IR AL TR A 4524 H 5151 61121 7H10H 8J114H 9 11H 10100 | 113130 | 12/ 11H 27 13H e KA e/ Mt SRt
K w O C ) 15.4 18.0 21.0 23.9 27.2 27.0 21.0 17.5 13.2 7.4 27.2 7.2 17.3
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g A R R R R A R A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 -— — < — — < — — < — < < <
T EER AR R R EES <10 0.1 0.29 0.29 0.29 0.29 0.25 0.36 0.31 0.36 0.44 0.34 0.44 0.25 0.33
7 v E K QX Z 0O EY =0.8 0.05 0.10 0.12 0.11 0.12 0.11 0.10 0.09 0.11 0.09 0.09 0.12 0.09 0.10
v FE K OEOWLRAEDY <1.0 0.1 < 0.1 0.1 0.1 0.1 < < < < < 0.1 < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < <
14- ¥ F * ¥ v =<0.05 0.005 < < < < < < < < < < < < <
YA-12-YIun T F LY RNV A1, 2-Y/an Ly =0.04 0.004 < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < <
kY /B omr = F L v =0.01 0.001 < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < -— < < <
7 o o 3 it =0.02 0.002 — -— < -— -— < -— -— < — < < <
s m wm K A A <0.06 0.001 0.004 0.003 0.004 0.004 0.004 0.005 0.002 0.002 0.001 < 0.005 < 0.003
Y 7 B o B =0.03 0.002 -— -— < -— -— 0.003 -— -— < -— 0.003 < <
Y 7 m ® s ouowm kK v =0.1 0.001 0.004 0.004 0.004 0.004 0.007 0.005 0.005 0.004 0.003 0.002 0.007 0.002 0.004
R # % =0.01 0.001 -— -— < -— -— < -— -— < — < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.013 0.012 0.013 0.014 0.018 0.017 0.013 0.010 0.007 0.004 0.018 0.004 0.011
K YU s v o owm EE R =0.03 0.002 — — 0.002 — — 0.003 0.003 0.003 < — 0.003 < 0.002
7w ® ¥V s ouowm A H v =0.03 0.001 0.004 0.004 0.004 0.004 0.005 0.005 0.004 0.003 0.002 0.002 0.005 0.002 0.003
7 v E K L A =<0.09 0.001 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.001 0.001 < 0.002 < 0.001
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— < < <
o kK % ot &P =1.0 0.01 0.01 0.02 0.02 0.02 0.02 0.01 0.01 0.01 0.01 < 0.02 < 0.01
TNHWNIZUVLARUVBZOED =0.2 0.01 < < < 0.01 0.01 0.01 0.01 < < < 0.01 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 19.8 21.5 20.3 22.0 20.4 18.1 16.8 19.0 17.4 16.3 22.0 16.3 18.8
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < <
L A O =200 1 14.7 16.0 16.3 16.9 15.8 15.0 13.2 14.9 14.3 14.3 16.9 13.2 15.3
AN b~ T2y L% E) =300 1 38 36 36 36 42 40 43 40 37 34 43 34 37
& % % B L) =500 1 84 97 96 104 109 97 94 90 88 52 109 52 92
bz A 4 v R om s A =0.2 0.02 — — < — -— < < < < -— < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = < < <
7 = ) — L H =0.005 0.0005 — -— < -— -— < -— -— < -— < < <
G L/ IEER T JCOF J) =3 0.2 0.2 0.3 0.3 0.2 0.3 0.3 0.3 < < < 0.3 < <
pH it 5.8~8.6 7.4 7.4 7.3 7.3 7.4 7.4 7.4 7.4 7.3 7.3 7.4 7.3 7.3
% REThRy RERL | BREARL | BREARL | BEARL | BERL | BERL | BERL | BERL | BREASL R
B & B TR Byl | BEAaL | BEAL | BEARL | BERL | BERL | BERL | BELL | BEAL B
) EoOC E ) =5 0.5 < < < < < < < < < < < < <
b} B ) <2 0.2 < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4

TR T IRAEA R, IR R AR R T

HALZ, GEHROROIRY, mg/1EF 2,

(PR No.l




